H & 0l & AHS B Ml A

20238 20ilaF et M
SN B#YLED
M SFES(8Z/2gdEsY
Chol: BAE (ol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHES 11,118,437 5,634,076 5,485,361
= 5,998,150
Jl 189,000
= 1,601,480
Al 3,330,807
LS (SY/azdLeseth) 11,070,437 5,569,716 5,500,721
= 5,998,150
) 189,000
= 1,601,480
Al 3,281,807
SHHYH 1,541,437 1,741,138 A199,701
= 32,000
< 14,475
Al 1,494,962
SN B3 123,200 131,200 A8,000
201 er2 3| 23,000 23,000 0
01 At2t2lt] 17,000 17,000 0
Oggt+==H| 6,000,000& 6,000
o=zl 6,000, 0002 6,000
ONIEEA DKM 228 X2 AR
5,000,000& 5,000
2 S52g4l 6.000 6,000 0
0Z332= € HAl 500,000 * 122 6,000
202 04l 10,000 10,000
01 =LHA LI 10,000 10,000
OZ2EH0H 10,000,000 10,000
203 HF=AY] 3,000 3,000
03 A= PR FA| 3,000 3,000
OXAES A HRFX
300,000 #53] 1,500
OZ2d R 500,000 32 1,500
301 EtE NS 2,000 2,000
11 dALEEIXIZE S 2,000 2,000
OXgstEsd WFEAL AHIAIE
1,000,000 1,000
Od= & Tt HAESHOIL 4L &
BIXI& 1,000,000& 1,000
307 212+01& 85,200 93,200 A8,000
02 LB HAHEE 36,000 28,000 8,000
OXHEAEHAY XI& 6,000,000 6,000
OMEANSIIs2EE 3 AdEAY XIH
30,000,000& 30,000
04 QIHHAIAIH 2 £ 49,200 65,200 16,000
OXHES A XI& 20,000,000 20,000




FA SEES
B SADS(2/8ABEAY)
Chol: BAE (ol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSHS JHRst SFor0| A X2
18,200,000& 18,200
OXI7el & A X1 6,000,000 6,000
OAEZ &e|J] At X1
5,000,000 5,000
=2l 2el 17,237 26,938 29,701
101 @124H| 10,437 9,938 49
M ORIMZZ2NSE S 10,437 9,938 49
O=2gdl 2l & A 212Y 10,437
oQI2Y 9,620 1H*4A| 2H240L 9,236
cAUEEE S 9,235,440 *13% 1,201
201 2= 6,800 5,000 1,800
01 At22t2l] 2,000 2,000 0
odHael 2elEE 7Y 2,000,000& 2,000
2 352484l 4,800 3,000 1,800
03&82= & AE=AH|
400,000 12& 4,800
ZHAEHSSHEE 2 16,000 17,000 21,000
201 er=2 3| 13,000 12,000 1,000
01 AtR2t2|HI 3,000 3,000 0
oget=EHI 3,000,000& 3,000
2 Ss2g4l 10,000 9,000 1,000
0Z332= % HMAl 500,000 * 12 6,000
OA&EHIs Xl 4,000,000 4,000
206 Tl 3,000 3,000
01 =l 3,000 3,000
OxA+ €yl Y o 2
500,000 x4 =1 2,000
OE&EAM=E A 7
100,000& %1004~ 1& 1,000
OrdS= HoHolIE At 180,000 89,000 91,000
= 32,000
== 14,475
Al 133,525
301 2= 30,000 25,000 5,000
< 4,875
Al 25,125
14 JIEt2 8= 30,000 25,000 5,000
Oltds= ==K
30,000,000& 30,000
= 4,875
Al 25,125
402 2I2F X201 & 150,000 64,000 86,000
= 32,000




A BEES
Y HAYS(HA/EABEAL)
&t 2EEH EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 9,600
Al 108,400
02 QIZEHE AL E (01X THE) 150,000 64,000 86,000
OOtES= LIHHZTAIE EX
150,000,000 150,000
= 32,000
< 9,600
Al 108,400
OisS=E 25 = 95,000 70,000 25,000
201 Ler23| 9,000 9,000 0
01 At2teltl 9,000 9,000 0
OO =EES =25 7Y 3,000,000& 3,000
OAMRA SAD| Xz 3,000,000 3,000
ORoH OrdSES == 2e| AIAE(PS) 29
bl 3,000,002 3,000
206 Tl 10,000 10,000
IEET 10,000 10,000
O%=)| OHUSS IHLXT BSAR X
E 10,000,000 10,000
301 2N = 76,000 54,000 22,000
4 IIE2d=s 76,000 54,000 22,000
ORd Ordis=E &d A1 24=
1,000,002 1,000
0K OHSE T8 BAD
60,000,000 60,000
O0tds= A HUIHAIH 5,000,000& 5,000
OJlszEH 2 27| UcHEXNE EE=
10,000,000& 10,000
SSetad 2 1,078,000 975,000 103,000
201 2= 130,000 107,000 23,000
01 At2t2lt] 10,000 10,000 0
Oggt=3H| 10,000,000 10,000
2 35234l 120,000 97,000 23,000
0332 € AMAl 70,000,000& 70,000
OAEEBIFX 50,000,000 50,000
206 M=Hl 38,000 28,000 10,000
01 M=8l 38,000 28,000 10,000
oOsSead tEA 7Y
30,000,000 30,000
os=3ad Mg #g 8,000,000& 8,000
307 elztol & 420,000 350,000 70,000
05 2I2tRIE =S 420,000 350,000 70,000
O=Eatad 2U2H(E 2|
420,000,000 420,000




SN B#YLED
M SFES(8Z/2gdEsY
chel: BEE Y (Shol: &2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 490,000 490,000
01 Al&H| 490,000 490,000
Ok= S&3tad A4 & WAl
300,000,002 300,000
OL® DESHA N4
150,000,000 150,000
OZ=3Ha4l Hiatd AXIALS
40,000,000 40,000
MRS 2el 32,000 32,000
201 Ler23| 32,000 32,000
01 At2teltl 16,000 16,000
OFNERg=s XA M
16,000, 0002 16,000
® 222yl 16,000 16,000 0
OBANLSLZ DN L8
4,000,000 43 16,000
=i 9,108,850 3,541,528 5,567,322
= 5,936,150
== 1,576,505
Al 1,596,195
BHAMOIER Dot QIMEIE X 21,000 21,000 0
= 10,500
= 3,180
Al 7,350
301 EetE NS 21,000 21,000 0
= 10,500
= 3,180
Al 7,350
14 DBt 2 a3 21,000 21,000 0
OBAMQIERN Ittt lMElE X3
21,000,000 21,000
= 10,500
= 3,150
Al 7,350
EAIZQIEN JtDt= AMIEIE KR (XHH) 5,000 5,000 0
201 ger= 3| 5,000 5,000
01 AtR2tc|HI 5,000 5,000
OEAHOIEN E2= HH
5,000,000& 5,000
ASxH BHAEQIERN QIMEIE I 2,000 1,778 222
= 1,000
s 300
Al 700
301 22N = 2,000 1,778 222
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A BEES
M HADS(HY/BALEUR
=9l JI=US EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Ar=EHI 8,500 8,500 0
OHIAHHEZ AIEE 2a0tA A ALE
R 8,500,000& 8,500
= 4,250
Al 4,250
301 Eet2 NS 4,500 4,500 0
= 2,250
Al 2,250
11 AALAEIXIE S 1,500 1,500 0
o2 29 234l 1,500,000 1,500
= 750
Al 750
14 IIEt2 83 3,000 3,000 0
OJIEt2a= 3,000,000& 3,000
= 1,500
Al 1,500
=4It 0 X2 913,500 331,000 582,500
= 675,000
= 159,000
Al 79,500
402 2IZtA=01d 913,500 331,000 582,500
= 675,000
= 159,000
Al 79,500
02 QI A2 AL E R (01X THE) 913,500 331,000 582,500
O=2axt 201 K& 913,500,000& 913,500
= 675,000
< 159,000
Al 79,500
SOIXS A 0 K2 4,047,000 1,180,000 2,867,000
= 2,850,000
< 750,000
Al 447,000
402 QI2F X201 & 4,027,000 1,166,000 2,861,000
= 2,836,000
== 747,000
Al 444,000
02 SIINEANSEX(0IETHR) 4,027,000 1,166,000 2,861,000
O&II=EX FOXH 1,256,500,000& 1,256,500
= 736,000
=S 297,000
Al 223,500
O&JIst=2xt FOHXIA 2,770,500,000& 2,770,500




A BEES
B SADS(2Y/8AEEAY)
o JIRUS (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,100,000
=S 450,000
Al 220,500
405 KHaHE SH 20,000 14,000 6,000
= 14,000
= 3,000
Al 3,000
01 TR ESFISHI 20,000 14,000 6,000
O=s2g M)z XE IR (0=
) 10,000,000 10,000
= 7,000
= 1,500
Al 1,500
001Y QHHEY XE X TOH(HLALD)
10,000,000 10,000
= 7,000
=S 1,500
Al 1,500
IS 700 XI&(XEA) 5,000 2,000 3,000
201 2= 5,000 2,000 3,000
01 At2t2lt] 5,000 2,000 3,000
OMIIXNSIt B2 222 MA
2,000,000& 2,000
OHIINSA S8 2t E2= MAH
3,000,000 3,000
ZII0IEX FOHAIE 80,000 46,000 34,000
= 40,000
= 12,000
Al 28,000
402 2IZtA=01d 80,000 46,000 34,000
= 40,000
= 12,000
Al 28,000
02 QI X2 AL EE(0IETHE) 80,000 46,000 34,000
O&II0IEXE 700 XI& 80,000,000& 80,000
= 40,000
< 12,000
Al 28,000
X SIS MZAS 3,189,700 1,304,000 1,885,700
= 1,880,650
[ 548,355
Al 760,69
201 er23 | 2,500 1,185 1,345
= 1,250




SN Y
Hu: aye

el JI=0 EERE)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
= 375
Al 875
01 AtR2telbl 2,500 1,155 1,345
ONZHXI(0PF) dsSKRAHUABAL =42
2,500,000& 2,500
= 1,250
= 375
Al 875
402 SIZEXHE0| M 3,187,200 1,302,845 1,884,355
= 1,879,400
< 547,980
Al 759,820
02 QIR 2AISEE X (0IETHR) 3,187,200 1,302,845 1,884,355
O:L=dRA XJIHX K& 2,657,200
oL SR ZIHX X (552)
1,584,000,000& 1,584,000
= 960,000
= 288,000
Al 336,000
oL SAKRX ZIHX X (4s2)
924,000,000 924,000
= 560,000
= 168,000
Al 196,000
oL SAKRI RINHIX K (HEIIH)
149,200,000& 149,200
= 74,600
== 22,380
Al 52,220
OALIA AN WH X2
198,000,000 198,000
= 118,800
== 19,800
Al 59,400
OLPGet= At A X
54,000,000 54,000
= 27,000
= 8,100
Al 18,900
O2#ARI M EXI(0PF) X
278,000,000& 278,000
= 139,000
= 41,700
Al 97,300
Olel0l St LPGAF M8 KIJ A 49,000 49,000 0




A BEES
B SADS(2Y/8AEEAY)
o JIRUS (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 24,500
=S 7,350
Al 17,150
402 2I2FXH=201& 49,000 49,000 0
= 24,500
= 7,350
Al 17,150
02 QI XHZ AL E R (01X THE) 49,000 49,000 0
OO0gl0] SeHxte LPGRE &2t X1
49,000,000 49,000
= 24,500
= 7,350
Al 17,150
A2 AEE SXAE ZX NSAY 468,000 540,000 AT72,000
= 260,000
= 83,200
Al 124,800
402 2IZtA=01d 468,000 540,000 A72,000
= 260,000
== 83,200
Al 124,800
02 QI X2 AL E (01X THE) 468,000 540,000 AT72,000
OARD AMRH YXIAE &3 Xg
468,000,000 468,000
= 260,000
< 83,200
Al 124,800
A8 MBEX X XA 50,400 0 50,400
= 28,000
< 8,400
Al 14,000
402 QI2F X201 & 50,400 0 50,400
= 28,000
== 8,400
Al 14,000
02 SIINEANSEX(0IETHR) 50,400 0 50,400
oJtAggT NZBEX £ X2
50,400,000 50,400
= 28,000
== 8,400
Al 14,000
IEE N=sA 22 ESAY 25,000 24,000 1,000
= 15,000
Al 10,000




A BEES
M HADS(HY/BALEUR
=9l JI=US EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 25,000 24,000 1,000
= 15,000
Al 10,000
02 QI X2 AL E R (0IHTHR) 25,000 24,000 1,000
OJIEE M=A 22 B=A(YE)
19,000,000 19,000
= 11,400
Al 7,600
OJEE M=A 22 ESAHE(HASSE)
6,000,000 6,000
= 3,600
Al 2,400
ABIFAHE SZLHEE LA (EX) 3,500 0 3,500
= 1,750
Al 1,750
402 2I2F X201 & 3,500 0 3,500
s 1,750
Al 1,750
02 QI ESASEZ(0IETHR) 3,500 0 3,500
OMIFAHE stBLES ML
3,500,000& 3,500
& 1,750
Al 1,750
OIAMIZHA o XA 10,000 10,000 0
= 3,000
Al 7,000
401 AlZHIZ S OHYI 10,000 10,000 0
=S 3,000
Al 7,000
01 AlZ8| 10,000 10,000 0
ONINIET & 2F ¢SS X
10,000,000 10,000
< 3,000
Al 7,000
oledeg ogas 9,750 7,750 2,000
201 Ler=23| 9,780 7,750 2,000
01 AtR2telHl 6,750 4,750 2,000
OtisgA 22y 22 &
500,000 500
OHU=IIE S3EH 222 F¥
250,000 250
OoIIEE A EHU>E
6,000,000& 6,000
02 S3=gl 3,000 3,000 0




A BEES
M SIS (8Z/2gdESY
thelr JIRtS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLxl SHAS A OHIE 22 2HR
= 3,000,000& 3,000
FOIAZSSRAL AFZ 22| ALY 107,000 0 107,000
= 75,000
Al 32,000
207 ARl 107,000 0 107,000
= 75,000
Al 32,000
01 H7ESHI 107,000 0 107,000
OLHEA FHNS FUHAABTAL ASZ
clHRES 107,000,000 107,000
= 75,000
Al 32,000
=22 H 115,400 99,100 16,300
QH=XCIAIE 2el 66,900 50,600 16,300
201 er=23y| 62,900 24,600 38,300
01 AFS2t2ltl 51,000 14,000 37,000
OANZM=E £2F 7 4,000,000& 4,000
OLH =+ LETHA =2
5,000,000& 5,000
QIIBt+=XEIANE HAHSA 2
1,000,000 1,000
OJjelot=xelAE2d Ii=e M
2,000,000& 2,000
OZAXS HatXdA de Xz
2,000,000 2,000
OMHLBIMCIT] BBHSHIAIL o)
Jlsdltt =28 37,000,000& 37,000
02 S3=gHl 11,900 10,600 1,300
OZstx FA0HHZ &E 2ERS
4,000,000 4,000
O&F3stE: 4 T2 RAES
3,700,000 3,700
O=22g UEXE 332 € MA
200,000 200
O+ 2y &I UK
2,000,000& 2,000
O%HRY HXY SR
2,000,000& 2,000
206 M=l 4,000 4,000
01 MZH| 4,000 4,000
O=&2E AL S &
3,000,000 3,000
O+228g N=EZE 7L
1,000,000& 1,000
HEQQHAAIL 22| 48,500 48,500 0




SN B#YLED
M SIS (8Z/2gdESY
29l 228 (Bt &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 26,500 26,500
01 At2teltl 1,500 1,500
OHIEQEMZAIE &)t 2]
1,500,000 1,500
02 S3=gHl 25,000 25,000 0
OHIBLENTAIE &IIRS
15,000,000& 15,000
OHIEQSNAAE =3 Xl
10,000,000 10,000
307 elztol & 22,000 22,000
05 21t S 22,000 22,000
OHIEQEMZAIE T2 SSH|
22,000,000 22,000
dEEE 2 304,750 187,950 116,800
= 30,000
Jl 189,000
< 10,500
Al 75,250
AT 2HAE 210,000 45,000 165,000
Il 189,000
== 10,500
Al 10,500
301 22N 210,000 45,000 165,000
Jl 189,000
= 10,500
Al 10,500
01 Al EE AL S(FRDEXMA) 210,000 45,000 165,000
OAgIlol FH=0 210,000,000 210,000
Il 189,000
= 10,500
Al 10,500
e g8 4 34,750 34,750
201 fer=3| 12,250 12,250
01 AtR2t2|H] 2,950 2,950
o= E-BA =2
1,500,000 1,500
OXNSIt SALSAl e M
450,000& 450
OFLEZTEH A28 7Y
1,000,000& 1,000
02 s3=gHl 9,300 9,300 0
ostBHEIE S52= £ HAl
200,000 200
O eExtg 4l FAH
1,000,000 1,000




A BEES
B SADS(2Y/8ABEA)
Sl MEEd 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
osdHExY 7Fl 2,500,000& 2,500
OSoNHTAI| B2RI 600, 0002 600
O DLIEIZAIAL ST 4|
5,000,000& 5,000
301 22N = 500 500
14 JIEt2 8= 500 500
OFENIT B4tz 500,000 500
405 AHatE = 22,000 0 22,000
01 ML ESFSHI 22,000 0 22,000
OHE=E S 7Y 22,000
o= 18,000,000 18,000
o FHEH| 4,000,000 4,000
OISRl & SYHHHE W2 Al At 60,000 108,200 48,200
= 30,000
Al 30,000
101 @124H| 60,000 81,000 221,000
= 30,000
Al 30,000
MU IIRINZZE2NSES 60,000 81,000 /21,000
OUINEA S SYHHE HZ2Al A 60,000
oS HZLAIE 22|
48,1002 «8H 26 L x4 40,020
= 20,010
Al 20,010
oI LAIE (b 13,000,000& 13,000
= 6,500
Al 6,500
oZAIE 401 E8=
150,0002 x84 & 4,800
= 2,400
Al 2,400
ot EH 22| 272,500 ~8%H 2,180
= 1,090
Al 1,090
YA HH(BZES ) (JIEH/DIE 49,000 64,360 15,360
J1I=23Hl 49,000 64,360 15,360
JI23Hl 49,000 64,360 15,360
201 2= 7,000 7,000 0
01 AtR2t2lt] 7,000 7,000 0
oget2dl 7,000,000 7,000
202 04l 38,400 53,760 215,360
01 =LHA LI 38,400 53,760 15,360
OZUHEHNH 38,400,000& 38,400
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